spectrum number fa (107" erg em™2s7'47") fa (1077 erg em™2s7'47")

& and x

0.5

Mean Spectrum

rm627 B 850 ek 0y b/
T T _I'__I'_ T T T T I T I_l_l I T Il I.I.I T I.I.I lI_'_I'_I_I“_I.
md : e
~ N L . o e e ]
BENRLA b . N | LS
N T ! R | -
L . Fe2
' [ " ' ' BLR
o
AN ) P NLR
1 : Il Il ﬁ# I 1 1 1 I 1 1 H 1 I 1 H IHIH I

3000
A @) z = 1.31721

|

RMS Spectrum

BLR 6050
[T

|....|.."?".|.H.H.H|

3000
1.31721

.‘ H| I

1

A Q@) z

x(A\t) = ( Data — Model AC5 ) / o X
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2>+6.00
3<-8.00
bad:872=0.21%

4 = 0.014(21) x = 0.924(75) => 0.924(75)
med(mad)

1.5

A Q@) z

1.31721

-2

f) (10717 erg em™2s7'87")

& and x

Continuum Lightcurve
med(mad)%
T T

200

20194 )
7500

26298 )
8000
MJD — 2450000

BLR Lightcurve

r — T T T T T T T T T T T T T T T ]

oL -

N

w L -

oL -

=t

wn -

0
PR S S [ T T S T R SR S PR T S [ S S SR TR |

MJD — 2450000

Corrections

s T e e e N LA B m s s S S e B B e e e
oL 4
-
_r J
-
e
@l . oy )
o

7500 8000

MJD — 2450000

u = 0.0144(66) x = 0.919(26) => 0.919(27)
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